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Assignment 12

Develop a principled argument for your recommendation (can you provide evidence, data, …?) 

Out of the 4 positions, I agree with position 2 the most, but Matthew likes position 3 better. I think that it is important, especially in this day and age where technology is taking off and making humans lazier, that children learn at an early age the reasoning behind arithmetic. I struggled with choosing between positions 2 and 3 because as position 3 has stated, “make learning these skills more fun and create a deeper understanding of underlying concepts...” I agree with thinking of ways to make math more fun and creative because that can be more motivating for students- math is boring as is. When I was in elementary school, we used blocks, candy, marshmallows, etc… to learn math. That way learning is interactive, interesting, and appealing as a child. Matthew’s personal experience of learning arithmetic is more painful comparing to mine. He dealt directly with numbers or some conceptual statements when he learned arithmetic. The only motivation was to get good grades. Therefore he thinks that kids will be more motivated and enthusiastic in learning arithmetic in position3 if we can teach them arithmetic in a way that is related to the task in their hands. Besides, the hand-held calculator plays a white box tool in position 3 which let the learner learn the skill, practice it and eventually become independent to the tools. The evidence will be comparing the learning experience of mine and Matthew’s. The saying outside of our classroom says “I hear I forget, I see I remember, I do I understand” and that correlates directly with the way that I learned arithmetic. And I believe that not only myself, but the majority of others learn more efficiently the same way. SO I think position 2 is the best way to learn math because the students are learning the principles behind how the problems work- and then using a calculator. 

Discuss the major weaknesses of the other choices 

I think that the major weakness with position 1 is ignorance of new technology. In my opinion, that is the worst thing you can do to students coming into a world that is beginning to revolve around technology. Ignoring new integrative technologies doesn’t help anyone, it only hurts them. Since the new technology can aid learning, We should be introducing new technologies, but not overlooking them. I agree with most all of position 3 except that I still believe students should have to learn at some point the fundamentals behind arithmetic. The weakness I see in position 2 is that it can be boring and less motivating - which is where position 3 comes in to make the process more interesting and motivating for students. Another weakness of position 2 is it doesn’t really use the new technology to aid learning. We think position 2 just introduce a more powerful calculator to the students. I am afraid that students will soon rely on the powerful calculator and forget why they need to learn arithmetic. As far as position 4, I agree with the concept of division of labor, however, machines aren’t always 100% reliable and accurate (at least we can’t 100% trust machines so far). If our goal is to teach students, I don’t see position 4 as being efficient because the machine isn’t teaching us anything and we’re not learning anything from it. 
Relate your argumentation to the article by Roy Pea

“One axis is social and most concerned with interactive responsiveness that is contingent on the needs of the learner, providing resources that enable the learner to do more than he or she would alone.” This quote is on page 429 of Roy’s article and I believe that it agrees with both positions 2 and 3 in different ways. Position 2 can be social and interactive and tend to the needs of the learner- position 3 fits this description as well- but position 3 provides the greater recourses and better explanation, and more motivated environment that position 2 doesn’t. 

“These articles have focused more on properties of software and curriculum for science inquiry than they have learner performances and transfer of learning considerations.” In this statement, Roy is saying that more time has been spent on developing technologies to better educate, but not as much time has been spent on evaluating the actuality of how individuals learn.  Scientists have been taking time to develop the applications to SOLVE the problem directly but not including HOW to solve it- therefore no one learns anything. For example, if you give someone who has never fished before high tech equipment like a sonar fish finder, it does them no good for increasing their knowledge of fishing. If your goal is to learn the sport of fishing, it’s not being accomplished because the sonar detector is just finding the fish for you, instead of teaching the knowledge of fishing. 

“From this perspective, the main sense of distributed intelligence emerges from the image of people in action whose activity is enabled by the configuring of distributed intelligence (p. 431).” Tying this quote back to the sonar example, you are not actually learning anything about fishing, instead, you are figuring out how to use the sonar detector- which wasn’t the original goal anyway. Roy believes that it is important to learn basic concepts before moving onto more advanced technology such as a calculator, in order to assure that you have learned something and know the fundamentals behind the process before you move onto more advanced applications. 

